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Abraham Lincoln, the son of a poor family, was bom in Kentucky, USA,
on February 12th, 1809. As a child he used to work hard and help his father on
the small farm where they lived . His mother, who loved him very much, died in
1818. Happily for him, his father’s second wife was kind to him, wwo. When she
s?lhal Abraham liked reading, she did all she could to help him.But the
family was so poor that the boy could not get many books. He spent very lirtle

time at school , perhaps no more than a year in all.
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TESTS

Unit 1

PANHE FTEREAME. SRAFFF AN, RH P
Freb g AB.C 2 AP A R (R, AR A 8 R
B, TEERMEE,NH 1041 EXEEH L DEfHE
BF—AHE., BRAENE K.

(' )1. Will the man do his English homework?

A. He may do it.
B. He doesn’t want to do it.
C. He wili by all means.
( )2. What are the man and woman discussing?
A. A doctor they know.
B. The woman's health.
C. A new medicine for headaches and sore throats.

(  )3. What do we leam from this conversation?

A. The man is going to leamn Chinese.

B. The woman is leaming English as well as Chinese.

C. The woman may probably begin to learn Chinese.
( )4. What does the man mean?

A. He will not learn computer language.
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B. He has no idea of computer language.
C. He will design a new kind of computer language.
{ )5. Can the woman buy the washing machine? :
" A, Yes, because she has a lot of money.
B. No, because the machine is not on sale.
C. Yes, if she borrows some money from the man.

WHEAARE FTHLAAMNEARA, SR ERRER
HIANE NEPFREHNABCEZA AT PR ERERT,
UHEBRMERRON, FEFRRAEEENESYE TR,
EABEH L SPHEENE, GFRMHBEHSE,

6 B, B 6T AL,

{ )6. Is Mary going to the party?

A. No, she doesn’t want to.
B. Yes, she’s going with Vince.
C. No, she can’t.
(' )7. Where does Mary work?
A. At McDonald’s.
B. For Jackson and Sons.
C. With Vince.

¥ 7 EREM, EF 8—10 AR,
( )8. What is Frank’ s son’s hobby?
A. Working in the garden.
B. Collecting stamps.
C. Bowling.
{ )9. Why doesn’t Frank have a real hobby?

g
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A. He's too busy.
B. It's expensive.
C. He's lazy.

( )10. Who likes to work in the garden? [
A. Frank.
B. Frank’s wife.
C. Frank's son.

ST S Hidcta, B4 11—13 M.
{ )11. Who will pay the rent for the apartment?
A. The woman.
B. The owner.
C. The woman's parents.
( )12. How much is the rent?
A. %120 a menth.
B. %100 a month.
C. $ 145 a month.
( )13. What is the girl?
A. She is a working girl.
B. She is a student.
C. She is a landlord.

ST s B¥E 14—16M,

( )14. Why won’t they go to the movies on Friday?
A. There's a school dance. !
B. The man has to work.
C. Their friends are coming.

{ )15. What do they want to do tonight?




A. Go to the movies.
B. Watch TV.
C. See friends.
( )16. When are they going out?
A. On Friday.
B. On Saturday.
C. Tonight.

of FE 10 ¥, B 17—20 2,
{ )17. What is Mr Smith?
A. He is an old teacher.
B. He is an English teacher.
C. He is an English writer.
(  )18. What languages does he know?
A. He knows English only.
B. He knows English and French.
C. He knows English, French and German.
{ )19. Which of the following is true of Mr Smith?
A. He is in his forties.
B. He is a tall handsome young man.
C. He often writes letters to his students.
{ )20. Which of the following is not true of Mr Smith?
A. He works very hard.
B. He usually works ten hours a day.
C. He works hard on Samrday and Sunday.
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)1. How much does the shirt cost?

A. $18.

B. $8.

C. $10.
)2. Will the man buy the bike?

A. No, he won't. It is too expensive.

B. Yes, he will. The woman wants it.

C. Yes, he will. He likes the colour.
}3. Who is Mr Brewn?

A. A door-keeper.

B. A book seller.

C. A librarian.
}4. Where is the conversation most probably taking place?

A. At a dancing hall.

B. At an airport.

C. At a subway station.
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{ )5. What did the man offer to do?
A. Put the suitcase in the car.
B. Carry the suitcase upstairs.
C. Carry the suitcase up to the plane.

PHE RARR FTEARAM AL GRAESARAR
HLNDE MNBEPHREHABCEZNEF PR ERERA.
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HENEHRBESPHEERE, SRS EAR.
6, DE 68,
{ )6. What does the woman think Billy's problem is?
A. He’s lazy.
B. He needs glasses.
C. He's shy.

{ }7. What subject is Billy having trouble in?
A. Reading.
B. Science.
C. Writing.

{ )8. Why can Billy be absent from school?
A. Because he’s shy.
B. Because he has to see a doctor.
C. Because he doesn’t like school.

E 7 RS . BF 9108,

( )9. Who does the pen belong to?
A. The man.
B. The wife.




C. The son.

( )10. Why doesn’t the pen work?
A. It was dropped.
B. There’s no ink in it.
C. The point is bent.

TH B EREM, B 11—13 2,
( )11. Why does the woman want to buy something for her husband?
A. He's angry with her.
B. It's a birthday present.
C. I’s a Christmas gift.
()12, What kind of present did the woman give her husband the last
time?
A. A tie.
B. A silk shirt.
C. A tie and a jacket.
( )13. Does the husband wear ties?
A. He loves ties.
B. No, he hates ties.
C. Yes, he does.

TR OSSN BDE 14—16M,
(  )14. What is Jean doing now?
A. Typing letters for Mr Black.
B. Typing a report for Mrs Famsworth,
C. Typing letters for Mrs Famsworth.
(  )15. Where is Mr Black going?
A Detroit.
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B. Chicago.
C. New York.

. When will Jean finish the report?

A. Pretty quick.
B. By 8:00.
C. In a little while.

What did Mr and Mrs Brown do that night?

A. They wanted to see a film,

B. They attended a meeting.

C. They attended the theatre.

Why did they phone all their friends?

A. To make sure when the show began.

B. To find out who'd sent the tickets to them.
C. To see if anyone would like to go with them.
Why couldn’ t they enjoy the performance?

A. It was bad.

B. It was excellent.

C. They were worrying about where the tickets came from.
‘What can you leamn from the note?

A. The theatre tickets were sent by the robbers.
B. The theatre tickets were expensive.

C. The theatre tickets were sent by their friends.
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)1. Why does thc man apologize?
A. He forgot to tell Mr Smith to bring the dictionary .
B. He lost the dictionary.
C. He forgot to bring the dictionary .
)2. What does the man think of the Chinese language?
A. It is the most difficult language in the world.
B. It is difficult to leam.
C. For women it may not be difficult to learn.
)3. When was the novel scheduled to be published?
A. Next July.
B. Last June.
C. Last July.
}4. What does the man want to know?
A. The content of the notebook.
B. What the woman wrote in the note.
C. Why people are not allowed to talk in the library.




